7 4
e 1 1 s 1 s v 1 3 1 2 1 :

NOTES:

BATTERY CABINET PART NUMBER GUIDE

1. HEAVY GAUGE STEEL FRAME WITH REMOVABLE FRONT, REAR, AND KNOCK OUT PANELS. CAGNETPATT N|“MBER DESCRPTION
2. POWDER COAT FINISH ELBAO A -1500
3. 14 POSITIONS FOR (@ 1/2” BOLTS ON 1-3/4” CENTERS, 24 POSITIONS FOR $3/8” BOLTS ON 1" CENTERS |
PROVIDED ON POSITIVE AND NEGATIVE BUS BARS. BASE PART NUMBER
4. 3POSITIONS FOR @ 1/2” BOLTS ON 1-3/4” CENTERS, 7 POSITIONS FOR (3/8” BOLTS ON 1” CENTERS
PROVIDED ON GROUND BUS BAR. POWDER COAT COLOR
5. BACK TO BACK INSTALLATION OF 2 HOLE LUGS CAN BE INSTALLED IF NEEDED.
6. MAIN BUS BAR CURRENT CAPACITY IS 1500 AMPS.
7. ULLISTED TERMINAL BLOCK PROVIDED FOR SHUNT TRIP/UVR AUX.
CURRENT CAPACITY
COLOR LEGEND CURRENT CAPACITY
“"A - BLACK -1500 1500 AMPS
-3500 3000 AMPS
-4500 4500 AMPS
18.00 11.00 —
a
o o g o I
7.25 **BLACK IS ESS STANDARD COLOR
N |AND WILL BE IN STOCK **
l LETTERS STATING "TBD" ARE OPEN
+ + FOR CUSTOM COLORS NOT LISTED.|
PLEASE CONSULT WITH SALES
! | STAFF FOR FURTHER INFO.
o o Cl o)
PART NUMBER GUIDE:
b 1. REFERENCE THE LANDING BOX PART NUMBER GUIDE TABLE WHEN PLACING AN ORDER.
2. THE BASE NUMBER WILL ALWAYS BE THE SAME. HOWEVER, 6 DIGITS (INCLUDING DASH) WILL
FOLLOW THE BASE NUMBER INDICATING THE COLOR AND CURRENT CAPACITY OF THE
LANDING BOX.
3. EXAMPLE: ELB40A-1500 - THIS REPRESENTS A STANDARD LANDING BOX
WITH A POWDER COAT FINISH OF STANDARD BLACK AND A CURRENT RATING OF 1500 AMPS.
40.00
14 POSITIONS, REMOVABLE VENTILATED
) PANEL ON REAR
EACH MAIN BUS BﬁR 20.25 Laos TYP. CUTOUT,
l—— I__m_m__ . 4PLCS.
! I
g . g g g . . B 0 g 0 g O )
7. == == @53 / N = N N N
7 = amm\ = TY‘P, N N N N\ = = 10.50
o o .
+ 10,00 . . /_EUOSSE%E
/- 2=\ (2= (2= o\ o\ o\ (—2\ (2—\ (Z—\
[ 1.75
° ' ° TYP. GROUND ° e
. o o g . BUS BAR . .
) 0 0 0 0 0 0 O e b / o
29.00 o 0o o o o o T . @ .53 TYP.
o 9006000000000 ! . ] NEGATIVE b % o ° .
T L 22,50
L i
| 1.00 \ l_ 1.75
Q@ 00 0 00 O0OO0 @Q © 0 O OO0 0 O . .OF ‘OD"D ‘. (-] .
o 0o 0 0o o 0O ©0 0o 0 o 0 ©O ] . o o i
0cbdogooocccc0occcdeccnsca p «o B 95520200 i L o
o | \ \ o \ L 1.00 o °
T
2.00 —==| A 432 6.00 | \_ ®.30
k15 24 POSITIONS, 3/8" BOLTS :
. EACH MAIN BUS BAR TYP.
FRONT VIEW SIDE VIEW SECTION A-A REAR VIEW
FRONT COVER REMOVED ®.39 SCALE1:6
TYP.
5
§ i et e o e
o [ o e
RNA [52313 LANDING BOX,
[omem moeowen ] @ < [oecw ] 40 X 20 X 29
'DRAVANG IS THE SOLE PROPERTY OF SEE NOTE 1 |ENG APPR. SIZE [DWG. NO.
R e — ELB40X
- use0 N T FET e

: T 7 T : T : T z T 3 2 T :




